Government Tender Notice Invitation of Tender Notice No. 33,34,35,37,38,39 /Seri/Engg/civil/PCR/BIR/2019-'20.

Sealed Tenders are invited by the Executive Engineer, Directorate of Sericulture, West Bengal, 45, Ganesh Chandra Avenue, (2nd floor), Kolkata-13 for the following works under P.C.R. in the district of Birbhum from the bonafide experienced and resourceful contractors having experienced in such type of works in pure Govt. Department/Zilla Parishad.

N.I.T .No.	Name of the Work	Estimated Cost	Earnest Money	Place of Work.	Time of completion of work.
33.	Construction of grill gate at unit-II complex and repairing of submersible pump with allied works (Qtr's. Pump) at Kotasur Sericulture Complex, Birbhum Under P.C.R.	Rs.1,38,090/-	Rs.3,460/-	Kotasur Sericulture Complex, Birbhum	l(one month) from the date of issue of Work Order.
34.	Repairing and renovation of E.O. Qtr. (converted into office of the Joint Director of Sericulture ,West Zone) at Sriniketan Sericulture composit unit Bolpur ,Birbhum under P.C.R.	Rs.4,96,391/-	Rs.12,410/-	Sriniketan Sericulture composit unit Bolpur ,Birbhum	1(one month) from the date of issue of Work Order.
35.	Sanitary & plumbing works with compound fencing around the proposed office of the Joint Director of Sericulture, West Zone at E.O. Qtr. at Sriniketan Sericulture composit unit, Bolpur, Birbhum under P.C.R.	Rs.4,93,553/-	Rs.12,340/-	Sriniketan Sériculture composit unit Bolpur ,Birbhum	1(one month) from the date of issue of Work Order
37.	Lowering of existing submersible pump motor set at Bolpur Sericulture composit unit, Muluk farm, Birbhum under P.C.R.	Rs1,99561- }	Rs.500/-	Bolpur Sericulture composit unit, Muluk farm, Birbhum	15(fifteen)days from the date of issue of Work Order
38.	Sanitary & plumbing works, painting etc. with allied works of office building at Sriniketan Sericulture composit unit Bolpur, Birbhum	Rs.4,50,368/-	Rs.12,260/-	Sriniketan Sericulture composit unit Bolpur ,Birbhum	1(one month) from the date of issue of Work Order
39.	Repairing of boundary wall (Broken portion) at Bolpur Sericulture composit unit, Muluk farm, Birbhum under P.C.R.	Rs.4,58,843/-	Rs.11,475/-	Bolpur Sericulture composit unit, Muluk farm, Birbhum	1(one month) from the date of issue of Work Order

Tender papers (NIT), Priced Schedule & Form-2911(ii) etc. may be obtained/downloaded from *seriwbgov.org* at free of cost. Tender should be submitted/dropped in the box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

Last date & time of submission of Tender	20.06.2019 upto 3-00 P.M. at Head Quarters, Kolkata.
Date & time of opening of Tender	20.06.2019 at 3-30 P.M. at Head Quartrers, Kolkata.

Envelop - I should be superscribed as Technical Bid for N.I.T No......SL No. of Work, Name of agency and it should contain (Self Attested) PAN Card. Last I.T. Return, valid GSTIN Registration, P.Tax Challan, Credential (similar nature of work at about 60% of Tender Value), EMD and sealed.

Envelop - II, should be super scribed as Financial Bid for N.I.T. No....... SL No. of Work, Name of Agency and should contain filled in - 2911 (ii) quoting the Rate and Sealed.

2(two) envelopes as noted above (I & II) should be put in a bigger envelop and sealed. Agency should write clearly N.I.T. No., Name of Work, SL.No. and Name of Agency on this Envelope and drop the same as per schedule mentioned in this N.I.T.

Technical Bid will be opened first. Financial Bid will be opened only if the technical Bid is found acceptable. Labour cess will be deducted from bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Directorate of Textiles(Sericulture), West Bengal, 45, Ganesh Ch, Avenue (2nd floor), Kolkata-13 on any working days and web site seriwbgov.org. The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/cancel all the applications without showing any reasons thereof. If any date as above happens to be holidays the next working days will be considered as stipulated date. Acceptance of lowest tender is not obligatory.

N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalised Bank will be considered as Earnest money. Notwithstanding anytime contained in this Notice Inviting Tender, the other termconditions and special terms & conditions will remain binding upon all concerned.

Executive Engineer,
Directorate of Textiles (Sericulture),
West Bengal

Memo.No.

ENG/SERI/PCR/BIR/8 (Vol.-6),

Copy forwarded for information & necessary action to :-

1. The Deputy Director of Textiles (Sericulture), Suri , Birbhum.

2. The Notice Board of this Directorate, Headquarters, Kolkata.

The Website of this Directorate of Textiles (Sericulture), West Bengal.

Executive Engineer,

Directorate of Textiles (Sericulture),

West Bengal.

Priced schedule for Sanitary and plumbing works with compound fencing around proposed office of the Joint Director of Sericulture, Bolpur at E.O.Qtr at Sreeniketan comp. Unit, Bolpur, Birbhum under P.C.R.

SI.No.	Description of item	Quantity	Unit	Rate (Rs.)	Amount(Rs.)
1	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. Depth of excavation not exceeding 1,500 mm.	23.00	Cum		2,743.00
2.	Single Brick Flat Soling of picked jhama Bricks including ramming and dressing bed to proper level and filling joins with local sand.	68.00	Sqm	264.00	17,952.00
3.	Brick work with 1st class bricks in cement mortar (6:1).a) In foundation and plinth.	6.00	Cum	4480.00	26,880.00
4.	125 mm. thick brick work with 1st class bricks in cement mortar (1:4) in ground floor.	20.00	Sqm	588.00	11,760.00
5.	Ordinary Cement Concrete (mix 1:2:4) with graded stone chips(20 mm.nominal size) excluding shuttering and reinforcement, if any, in ground floor as per relevant IS. Codes. Pakur Variety	4.503.10	Cum	4684.63	14,522.00
6.	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor as per relevant IS codes. Pakur Variety.	11.00	Cum	5289.63	58,186.00
7.	Hire and labour charges for shuttering with centreing and necessary staging upto 4 m. using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams, columns, lintels curved or straight including fitting, fixing and striking out after completion of works. (upto roof of ground floor) >>> 25 mm. to 30 mm. thick wooden shuttering as per decision & direction of Engineer-in-charge.		Sqm	328.00	19,024.00
		d			e

1		No.	,			
	. કે.	Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc. initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every inter-section, complete as per drawing and direction. For works in foundation, basement and upto roof of ground floor / upto 4m.	0.685	M.T.	55629.00	38,106.00
	9.	Tor steel/Mild steel. M.S. or W.I. Ornamental grill of approved design joints continuously welded with M.S, W.I. Flats and bars of windows, railing etc. fitted and fixed	5.70	Cum	7238.00	41257.00
		with necessary screws and lugs in ground floor. Grill weighing above 16 Kg./sq.mtr.				
	10.	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/staging where necessary (ground floor). [Excluding cost of chipping over concrete surface] With 1:4 cement mortar 20 mm. Thick plasters.	68.00	SQ.m	170.00	11560.00
	10.1	With 1:4 cement mortar 15 mm. thick plaster.	72.00	Sqm	157.00	11304.00
	11.	Neat cement punning about 1.5 mm. Thick in wall, dado, window, sills, floor, drain etc.	47.00	Sq.m	34.00	1598.00
	12.	Applying interior grade Acrylic Primer of approved quality and brand on plastered or concrete surface old or new surface to receive	356.00	Sqm	30.80	10965.00
	3-den L. Dove C. Levy Silveride, physical	decorativ textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC. a)One coat.		on 11 (d) (d)	E THERE EX THE	ARTIS CLEEN SECRETARION SERVICE SERVE
	13.	Applying Exterior grade Acrylic Primer of approved quality and brand on plastered or concrete surface old or new surface to receive decorativ textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping and preparing the surface throughly, complete as per manufacturer's specification and as per direction of the EIC. A) One coat.	330.00	Sqm	32.40	10362.00
	14.	Protective and Decorative Acrylic interior emulsion paint of approved quality, as per manufacturer's specification and as per direction of EIC to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer. Premium 100% Acrylic Emulsion. a)Two coats.	356.00	sqm	70.00	24920.00
	15.	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as permanufacturer's specification and as per direction of EIC to be applied over acrylic primer as required. The rate includes cost of material, labour, scaffolding and all incidental charges but excluding the cost of primer. Premium 100% Acrylic Emulsion. A) Two coats	330.00	Sqm	84.00	27720.00

	Panel shutters of door and window, as per	8.50	Sqm	2789.00	23707.00
i.	design (each angel consisting of single plank without joint), including fitting and fixing the	0.00			-
	same in position but excluding the cost of hinge	9			
	and other fittings		9.		
	35mm thick shutters with 19mm thick panel.				
	Shisu, Gamar, Champ, Badam, Bhola, Mogra,				
	Shutters of 2/3rd panel and 1/3rd glazed of	6.00	Sqm	3046.00	18276.00
' .	doors and windows as per design (each	0.00			
	panel consisting of a single plank without				a a
	joint and with ordinary glass of 7.4kg. Per				
	sq.m./3mm thick) fitted with putty bed and				
	teak wood beads and nails including fitting	8		g 8	
	and fixing shutters in position but excluding				
	the cost of glass, putty, teak bead, nails,				
6	hinges etc. and other fittings in ground			M	
	floor. hinges and other fittings in ground				
	floor 35mm thick shutters with 19mm thick				=
	panel.	*			
	Shisu, Gamar, Champ, Badam, Bhola,				
	Mogra, Hallak.			04.00	1344.00
8.	Iron socket bolt of approved quality fitted	16	Each	84.00	1344.00
	and fixed complete.		199	,	
	a) 150mm long x 10mm dia bolt.	25.00	Each	63.00	1575.00
8.1	Iron socket bolt of approved quality fitted	25.00	Lacii	00.00	
	and fixed complete.				
	a) 225mm long x 10mm dia bolt. Iron butt hinges of approved quality fitted	30	Each	47.00	1410.00
19.	and fixed with steel screws, with ISI mark.				
	100mm. X 58 mm. X 3.50mm.				
20.	Iron hinge cleat of approved quality fitted	33	Each	29.00	957.00
20.	and fixed with nut and washer complete.				0040.00
21.	(a) Priming one coat on timber, plastered	74.00	Sqm	38.00	2812.00
	surface with synthetic oil bound primer of				
	approved quality including smoothening				
	surfaces by sand papering etc.	68.00	Sqm	29.00	1972.00
22.	(b) Priming one coat onsteel or other metal	00.00	Oqiii	20.00	
	surface with synthetic oil bound primer of approved quality including smoothening				
	surfaces by sand papering etc.				
00	(A) Painting with best quality synthetic	74.00	Sqm	81.00	5994.00
23.	enamel paint of approved make and brand				
	including smoothening surface by sand				
	papering etc. including using of approved	•	7		
	putty etc. on the surface, if necessary:				
	(a) On timber or plastered surface :				
	With super gloss (hi-gloss) -	2			
	Two coats (with any shade except white)	68.00	Sqm	79.00	5372.00
23.1	(b) On steel or other metal surface :	00.00	Joqui		
	With super gloss (hi-gloss) - Two coats (with any shade except white)				
0.4	Supplying, fitting & fixing UPVC pipes B Type	22,00	Mtr.	292.00	6424.00
24.	and fittings conforming to IS: 13592-1992 with				
	all necessary clamps nails including making				
	holes in walls, floors etc. cutting trenches in any soil, through masonry concrete structure etc. if				
	necessary and mending good damages				
	including jointing with jointing materials (Spun				
	yarn, valamoid / bitumen / M. seal etc.)				
	complete.	A.			
0.5	UPVC Pipes: 110 mm. Dia	1	Eac	h 3260.00	3260.00
25	Supplying, fitting and fixing white vitreous china best quality approved				
				1	1
	Vitreous china best quality approved	n			
	make wash basin with C.I. brackets of 75 mm X 75 mm wooden blocks,	n			

詩

	e t					
26	approved quality brass C.P. pillar cock of 15 mm dia., C.P. chain with rubber plug of 30 mm dia., approved quality P.V.C. waste pipe with C.P. nut 32 mm dia., 900 mm long approved quality P.V.C. connection pipe with heavy brass C.P. nut including mending good all damages and painting the brackets with two coats of approved paint. All Districts of West Bengal Item No. Description of Item (i) 450 mm X 300 mm size			5400.00	5400.00	
	Supplying P.V.C. water storage tank of approved quality with closed top with lid (Black) – Multilayer i) 1000 Litre.	1	Each	5128.00	5128.00	
27	Supplying, fitting and fixing 10 litre P.V.C. low-down cistern conforming to I.S. specification with P.V.C. fittings complete, C.I. brackets including two coats of painting to bracket etc.	2	Each	1015.00	2030.00	
28	Supplying, fitting and fixing E.W.C. in white glazed vitreous chinaware of approved make complete in position with necessary bolts, nuts etc. (a) With 'P' trap	2	Each	1421.00	2842.00	P
29	Supplying, fitting and fixing Closet seat of approved make with lid and C.P. hinges, rubber buffer and brass screws complete. (a) E.W.C. (i) Plastic (hallow type) black	2	Each	715.00	1430.00	
30.	Supplying, fitting and fixing G.I. pipes of TATA make with all necessary accessories, specials viz. Socket, bend, tee, union, cross, elbo, nipple, long screw, reducing socket, reducing tee, short piece etc. Fitted with holder bats clamps, including cutting pipes, making threads, fitting, fixing etc. Complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint in any position above ground. (Payment will be made on the centre line measurements of total pipe line including all specials. No separate payment will be made for eparately, specials. Payment for painting will be made eparately) (A) For Exposed Work (a) (i) 15 mm dia. (M) ii) 32 mm dia. (M) (B) For Concealed Work (a) 15 mm dia. (M)	3.72 20.00 10.00	Mtr. Mtr,	192.00 305.00 266.00	715.00 6100.00 2660.00	
31.	Supplying, fitting and fixing shower of approved brand and make. Polythene. 15 mm	2	Each	340.00	680.00	
32.	Chromium plated Bib Cock short body (Equivalent to Code No.511 & Model - Tropical / Sumthing Special of ESSCO or	5 W	Each	539.00	2695.00	

ным впитиво то авсор, омгонизавления

	similar brand)						
	15 mm dia				1		
33.	Supplying, fitting and fixing Chromium plated concealed Stop Cock (Equivalent to Code No. 513(A) & 513(B) & Model - Tropical / Sumthing Special of ESSCO or similar brand).	4		Eacl	953.00	1.	3812.00
34.	Supplying, fitting and fixing Peet's valve fullway gunmetal standard pattern best quality of approved brand bearing I.S.I. marking with fittings (tested to 21 kg per sq. cm.). i)32 mm dia ii)25 mm dia	2	, 1	Eacl Eacl)	2516.00 912.00
35.	Supplying, fitting and fixing Chromium plated concealed angular Stop Cock (Equivalent to Code No. 513(A) & 513(B) & Model - Tropical / Sumthing Special of ESSCO or similar brand).	4		Eac	815.00		3260.00

TOTAL=Rs.4, 36,772.00

Add G.S.T. @12% (+) = Rs. 52413.00

TOTAL=Rs.4,89,185.0

A dd Labour welfare cess @ 1 %(+)

=Rs 4368.00

TOTAL=Rs.4,93,553.00

Executive Engineer
Directorate of Textiles (Serfculture
Government of West Bengal